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Since it came into his possession illegally — 79759 SNR RTIDINR2T 119D

OVERVIEW

The X713 states that it is possible that we cannot derive from 777282 wIX> that IR
should be Xn>7IXT7 7P by 7713, since by 12°1 the item came into his possession
illegally (as opposed to 77°ax)." Our moown will differentiate between wix> and
qpP91, concerning whether the 1713 can or cannot be .

- M3 17915 (PN YINY YW ININ
It seems from this argument (of 7°7°% °>nX XM0°X2 and therefore wX> should not be

1117) that wINs is not like ‘regular’ 2po:7 -
- 245971 119 MDY Y91 KIDIND NYY NOINT 9N 199N 19 DN

For if v x> would be like 73 17977 then even after it was X™19382 17979 XD, the

thief should be able to acquire the 77°13 from P57, It is only because WX’ is not as
‘strong’ a release as 7971 is, therefore the 211 cannot acquire it through wIX* if 7% XnX xMEK2.*

MooIN anticipates a question:
= 999NV V) ¥ RIT ¥72Y VDN INWUNIINI (2,05 91 pv>y) NIIYNA IINRT N

And concerning that which the X713 states in n2w51 1o, if a slave owner states,
‘I was wx»n» from my 72’ the rule is that the 72y does not require a ‘writ of

freedom’, but is free without a ww. This ruling is valid providing -
- MY VI T PRY MY XY 73 959901 1359IN SN

That we maintain if one is 9°p2» his slave, the slave is emancipated and does

" See previous X371 1"7 Moo (and in “Thinking it over’; there).

* The r1"27 Mix7 amends this to read "K',

3 1t is apparent from MooIn that if the owner was 2°pon the 7213, then the 21 will acquire it (others maintain that if
the owner was 7°pon the 1213, the 1713 is entirely 7o [even] from payment). See, 121 1"nR, for various different
interpretations of this n9o1n. One of the difficulties is that seemingly since the 1713 has the item; it is not in the mwA
of the owner to make it 7p5i1. One possible explanation is that even though the owner cannot be 7°pon it for everyone
(since it is 7217 MWw132), however he could be °pon it for the 1213 himself (especially if we assume that this 1pon
would be considered [like] a 77°mn). See ‘Thinking it over’.

* One possible explanation may be that by 7po7 there is a total relinquishment of ownership, therefore the 771
acquires it. However by w&> the owner does not relinquish his ownership, he merely despairs from ever retrieving it.
The w> accomplishes that the owner cannot require that the 77°aR be returned to him (since it is ¥ 12 X, and
therefore the finder may keep it). However if initially there was a mawn 2vn (as it is by 72°1 [and if it was found
before wX°]), the w1X> does not nullify the 72w 2.

> It would seem that perhaps Mmooin is referring to the X3 there on X, where the X1» states that according to
Sxmw if the owner of the 72y was WX™nn then 2R1MW 77XKR K2 "I RMIMT RV KOK 72 7290WH KD *TAVNIWRT Y20 K2
MW VY PR IPRY mn RY T2 °Pona ORINY MRT NRVLY.
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not require a MY WV; the same ruling will apply if he was wx»nn from his 72v. This
indicates that x> and 7577 have the same power; this would seemingly contradict what nsoIn
just inferred from the X773 here that 2X> is not 7N Tpoma.°

mooIn replies:
- 19°P91 NIN 9N YNNHN 97 DIVN KD

It is not because when he was wX>»n» from the slave it is as if he was 2°p5% him;

this is not so -
= 172 19T 9PPANY 1129 NYIDINI N71PD NNON 172N 19 ON 979N 2N YIN? INY

For if @8> is 2p277 then even if XM10982 71979 XNN, since the owner was 23pp» the

item the thief would acquire them. Therefore we must conclude that wix> is not like “po71 -
= 9190Y V) 7298 PPN 9PANAYT 9391 97 NNYL 19N BN NN

However there the reason why by vX> he does not require a AW Vi as by po7,

it is because just a by 9727 he does not require a 97w ©A -
$159Y MY 1295 PR URMNIYA 293 XN 'PYY 1399 MY PRV %99

Since his master has no control over him; here too, when he was wxX>»n» his
master has no control over him; but not because v is like “pa1.

SUMMARY

If the o°%va would be 7°pon the 1712°13 the 1213 would acquire it (as opposed to WIR).
The ownership of a master over his slave ceases as soon as the master
(acknowledges that he) is not in control; whether through 2577 or wX>.

THINKING IT OVER

Mo0IN maintains that from our X713 it is evident that ¥R 1s not like 77 [for if it
were, then even though 7% XnX XM10°X2 he should be 7po:7 12 71977].% However we
can argue that generally when one is wX>nn (and the v 1s effective [for instance,
by an 77°2x]) it is the equivalent of p571 in all respects.” However here there can be
no WIX’; since M7°% RNX XX, this prevents the wIX* from taking effect!'”

® If we assume that wX* merely removes the obligation of 7w (see footnote # 4), then how can we compare ;1
(where he relinquishes his ownership) to ¥ > (where there is merely no 72w 211). How can the &> grant the 72y
his freedom?! It would therefore seem from that X2»3a that ¥R is like po1.

7 See the X3 in X,15 3 where YXmw derives his 17 that 1AW v3 '8 NPAY KW 172 pona from the P1od of 72Y
R, that 72v 1 1K 1oY 1299 M 17 PRY 72V 1P 1Y 1272 w1 Y2 wew 72y, This same rationale applies by v, The
owner is not in charge of him anymore.

¥ See footnote # 3.

? This would explain Why by MW VA R TN 12 T 0TAYR WK,

1 See a7 mann.
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